Cyclical Lever Drive - 9 Spoke - Canadian Chairs Only

NOTE: Installation of the CLD MUST be performed by a qualified dealer. If a non-certified individual
performs any work on these units, the Manufacturer's Warranty is Void.

Side Frame shown for

reference only
/
/
//
4
- S~ -
TN <7 | NN
| 5 TN ~ <« b} 5 o \\\\
Rear Hub shown for \v< (\6/) A \\_‘ @\\ NS
reference only N\ - \\ QN 9 \ \\‘//8\\ \@
; (4 N N 8)
\ CNAY




Cyclical Lever Drive - 9 Spoke - Canadian Chairs Only

NOTE: Installation of the CLD MUST be performed by a qualified dealer. If a non-certified individual
performs any work on these units, the Manufacturer's Warranty is Void.

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1087407-NLA | NLA - Screw, Hex Head (7/16-20 x 6-1/2") 1 1
2 1088180-NLA | NLA - Screw, Pan Head, Phillips (#10-32 x 3/4") 1 6
3 1087909-NLA | NLA - Plate, Hub Support 1 6
4 1087907-NLA | NLA - Hub, Outer - Rear (9 Spoke) 1 1
5 1087744-NLA | NLA - Bolt, Drive Lever 1 1
6 1084822-NLA | NLA - Washer, Axle (7/16 x 2-3/8" x 1/16") 1 1
7 1087908-NLA | NLA - Spacer, Hub Outer Rear (7/16 x 3/4 x 19/32") 1 1
8 1045608 Locknut (7/16-20) 1 1
9 1087912-NLA | NLA - Spacer, Hub Inner (7/16 x 3/4 x 15/16") 1 1
10 1087592 Wheel Lock Assembly - Right 1 1
10 1087463 Wheel Lock Assembly - Left 1 1
11 A 1087733-NLA | NLA - Transmission Assembly - Right 1 1
11 A 1087734 Transmission Assembly - Left 1 1
12 1087905-NLA | NLA - Grip, Handle (7/8") 1 1
13 1088108 Handle, Black 1 1
14 1088117 Screw, Socket Button Head (5/16-18 x 1-1/4") 1 1
15 1088110 Plunger 1 1
16 1087761-NLA | NLA - Knob, Shift Lever, Black 1 1
17 1087739-NLA | NLA - Lever, Shift 1 1
18 1087738-NLA | NLA - Plate, Shift 1 1
19 7930326-NLA | NLA - Package, Screw, Hex Head (1/4-20 x 3/4") 25 2
20 1087204-NLA | NLA - Washer, Flat (1/4 x 9/16 x 1/32") 1 6
21 1087752-NLA | NLA - Screw, Socket Head (1/4-20 x 3/4") 1 1
22 1087420-NLA | NLA - Handle, Adjustment, Tapped Type, Black 1 1
23 1087477 Steering Link Assembly - Right 1 1
23 1087478 Steering Link Assembly - Left 1 1
24 1087981-NLA | NLA - Support Bracket Assembly - Right 1 1
24 1087982-NLA | NLA - Support Bracket Assembly - Left 1 1
25 1088201-NLA | NLA - Transmission Lever 1 1
26 B 1087979-NLA | NLA - Kit, Hub Attachment - Rear 1 1
27 C 1087760-NLA | NLA - Drive Arm Assembly - Right 1 1
27 C 1087759-NLA | NLA - Drive Arm Assembly - Left 1 1
NOTE: A -Includes Items 1-3, 6-9

B - Includes Items 1-3 and 6-9

C - Includes Items 12-15 and 22-24

NOTE: For CLD release handle see page titled, "Fork and Release Handle for Cyclical Lever Drive."




